- ®
Carrier

/d ‘ﬁz s TR S - A AP -

£ A 35/

CONNECTION OF OIL COOLER TO
BEARING HEAD

TO OIL COOLER
PUMP BEARING HEAD
i ; FROM OIL COOLER
fgd «

74 0l Cooler o/

CONNECTION OF OIL COOLER TO
BEARING HEAD

COOLER BRACKET
(1TEM H2)

~—— NIPPLE (ITEMHID

N £LBOW (ITEMH7)

OlL COOLER__

(ITEM #1)
Q, FROM OIL COOLER
NIPPLE (ITEM*S) COUPLINGS / /BEPAURMl:GE:gAD
S e N
COMPRESSOR GAGE COUPLING TEE (ITEM#9)
UTEM #10) NIPPLE (ITEM *12}
SohienEssons —SET SCREW (ITEMH8)
ELBOW
o
HANDHOLE ﬂ OIL COOLER (1ITEM*1) | B J
COVER - .
P 11 BRACKET, STUDS COUPLING -
NUTS 6 WASHERS (ITEMS #2.3,4,5) {10 OIL COOLER) ~~ \
{ITEM ¥#6) STUDS, NUTS
MOTOR END BEARING END 8 waduens
61.45-977 OIL. COOLER ACCESSORY PACKAGE 5F20-547 OIL. COOLER ACCESSORY PACKAGE
CONSISTING OF CONSISTING OF
ITEM| PART NO. |REQ DESCRIPTION ITEM| PART NO. |REQ DESCRIPTION
1 |{KH52HC101| 1 {Cooler, Qil 1 {KH52HC101| 1 |Cooler, Oil
2 |5F41-3342 1 |Bracket, Cooler 2 {5F20-4932 1 | Bracket, Cooler
3 |5H40-1781 2 |Stud, Cont. Brkt. 3 |5F20-1781 2 |Stud, 3/8-16
4 AU1TAR241} 2 |Washer, Spr. Lock, 3/8 4 |AUTTAR241| 2 |Washer, Spr. Lock, 3/8 -
5 |AT39AA241{ 2 |Nut, Hex, 3/8 - 16 5 JAT39AA241| 2 |[Nut, Hex 3/8 — 16
6 {DD07DA203| 1 |Coupling, 3/8 MPT x 1/2 Flare 6 |DDO7DA101| 4 |Coupling, 3/8 MPT x 3/8 MFL
7 |DD10CA203| 3 |Elbow,Half Union 3/8 MPT x1/2 FI 7 |CE06RA106! 1 | Elbow, Reducing 3/8 x 1/4
8 |DD10CA201| 2 |Elbow, Half Union 1/2 MPT x1/2 FI 8 |AE11AR254| 1 | Screw,Socket Set 7/16-14x3/8LG.
9 [CEO0ICA110{ 1 |Nipple, 3/8 x 2 LG. (Sched 80) 9 [CE20RAT102{ 1 |Tee, 3/8x 3/8 x 1/4 MPT
10 {CE20RAT01| 1 |[Tee, 3/8x3/8x3/8 10 {DD07UAQ51{ 1 [Coupling, 1/4 MPT x 1/4 MFL
11 [5H81-2171 1 |Plug, Headless 11 |CEOICAOQ51| 1 |Nipple, 1/4 — 18 x 7/8 LG.
12 |AF19AR317] 1 |Screw, Socket Set 5/8 —-18x5/8 LG. 12 {CE0ICA102} 1 |Nipple, 3/8x T LG.

Fig. 1 - 5H and 06L Oil Cooler Installation

INSTALLATION .

If compressor is ordered for use with oil
cooler, the internal plug must be installed in the
bearing head when received. This plug prevents
internal bypass of the oil from the pump dis-
charge to the bearing feed. If plug isnot installed
oil will bypass cooler,

CAU I‘IO\* Do not operate without oil coole*
installed, When internal bvpass is phzgged no
oil can get to bearmgs !

If compressor is not ordered for use with oil
cooler, a special bearing head must be ordered
from Service for 5F,H compressors except the
5H120,

© Carrier Corporation 1967

Printed in U.S.A. 9-.67

Fig. 2 - 5F Oil Cooler Installation

5F20,30,40,60 Bearing Head - SF40 -677
5H40,60,80  Bearing Head - SH40 -677

These bearing heads come less the internal
plug, Therefore, plug in accessory package must
be installed before installing bearing head on
compressor, Plug position is shown in Fig, 1.

The 5H120 and all 06L compressors musthave
the plug added by removing the full flow oil filter
and plugging the threaded hole in the flanged
face of the bearing head as shown in Fig. 1. The
5F compressors can have the plug added exter-
nally as shown in Fig, 2, The 5H40-80 compres-
sors must have plug installed internally as shown
in Fig. 4, This means bearing head must be re-
moved to install plug.

5FH,06L-1SI



After internal plug is inplace install fittings as
shown in Fig. 1 or 2 and connect piping to cooler
as shown in Fig. 3. Water connections on oil
cooler are 3/4-inch FPT and oil tubing from
cooler to bearing head should be 1/2-inch cop-
per tubing.

NOT

OPERATION

This package is needed for low temperature
and/or high compression ratio applications where
oil temperatures are high.

Oil breakdown and shaft seal leakage canoccur
due to high oil temperatures. Crankcase tem-
perature should be kept below 140 F and shaft
seal temperature at the seal housing should be
kept below 170 F,

The water thru the oil cooler should be con-
trolled to maintain 100-120 F oil returning to the
compressor crankcase from the cooler,

Estimated Water Flow Rates

COMPRESSOR GPM*
5F 2-3
SH, 06L (4, 6 and 8 Cylinders) 6
5H, 06L (12 Cylinders) 8

*Flow rate based on 80 F entering water.

OIL PUMP DISCHARGE TO OIL COOLER

o

-

FROM OIL COOLER TOBEARINGS

WATER
—
SUPPLY

OlL COOLER __,__{5&]_,

CONTROL
VALVE

Fig. 3 - Oil Cooler Piping

3 _isunF-28 TAP
{INTERNAL PLUG)

—lé- NPT AMER

—_—

Fig. 4 - 5H40,60,80 Internal Plug Installation

Manufacturer reserves the right to change any product specifications without notice.

Tab 3 S5FH,06L-1SI Supersedes 5F20-1543 & S5F20-1555 9-67 Codes C and MB Catalog No. 530-514




	
	

